This article was downloaded by: On: 24 January 2011 Access details: Access Details: Free Access Publisher Taylor & Francis Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 37-41 Mortimer Street, London W1T 3JH, UK



Journal of Macromolecular Science, Part A

Republic of China

Publication details, including instructions for authors and subscription information: http://www.informaworld.com/smpp/title~content=t713597274

Curing Theory and Scaling Study: Crosslinking Reaction of the A_a Type Au-Chin Tang^a; Ze-Sheng Li^a; Chia-Chung Sun^a; Xin-Yi Tang^a ^a Institute of Theoretical Chemistry and Chemistry Department, Jilin University, Changchun, People's

To cite this Article Tang, Au-Chin , Li, Ze-Sheng , Sun, Chia-Chung and Tang, Xin-Yi(1988) 'Curing Theory and Scaling Study: Crosslinking Reaction of the A_a Type', Journal of Macromolecular Science, Part A, 25: 1, 41 – 54 **To link to this Article: DOI:** 10.1080/00222338808053364 **URL:** http://dx.doi.org/10.1080/00222338808053364

PLEASE SCROLL DOWN FOR ARTICLE

Full terms and conditions of use: http://www.informaworld.com/terms-and-conditions-of-access.pdf

This article may be used for research, teaching and private study purposes. Any substantial or systematic reproduction, re-distribution, re-selling, loan or sub-licensing, systematic supply or distribution in any form to anyone is expressly forbidden.

The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.

CURING THEORY AND SCALING STUDY: CROSSLINKING REACTION OF THE A₂ TYPE

AU-CHIN TANG, ZE-SHENG LI, CHIA-CHUNG SUN, and XIN-YI TANG

Institute of Theoretical Chemistry and Chemistry Department Jilin University Changchun, People's Republic of China

ABSTRACT

The process of the A_a -crosslinking reaction is considered as a whole to approach the threshold of the sol-gel transition. By a rational way, without Stirling's approximation, the asymptopic form of the Flory-Stockmayer distribution near the gel point is obtained to reach a generalized scaling law.

INTRODUCTION

For the A_a -crosslinking reaction, the behavior of polymer moments below and above the gel point, which is regarded as the threshold of the sol-gel transition, is discussed in detail. From the Flory-Stockmayer distribution [1, 2] a reasonable approach to the threshold of sol-gel transition [1-10] is proposed without Stirling's approximation [8, 10] to reach the asymptotic form of the equilibrium number fraction distribution of *n*-mer as

$$\widetilde{P}_n = a \left[\frac{1}{2 \pi (a-1)(a-2)} \right]^{1/2} n^{-5/2} \exp \left[-\left(k - \frac{3}{2}\right) \frac{n}{n_{\xi}(k)} \right].$$
(1)

This expression involves the integer k which takes the values 2, 3, 4, ..., and the generalized typical size $n_{\xi}(k)$ which takes the form

Copyright © 1988 by Marcel Dekker, Inc.

TANG ET AL.

$$n_{\xi}(k) = \frac{(2k-3)(a-2)}{(a-1)^3} |p - p_c|^{-2}, \qquad (2)$$

with the gel point given by

$$p_c = \frac{1}{a-1} \,. \tag{3}$$

As a direct consequence, it is easy to find that as a generalization of the scaling law [8, 9], the relations

$$\tau - 2 = \sigma \beta$$

$$k + 1 - \tau = \sigma \gamma_k, \quad k = 2, 3, \dots, \qquad (4)$$

hold true.

POLYMER MOMENTS OF A_a CROSSLINKING REACTION

Let us consider a crosslinking system in which each monomer A_a keeps *a*-functionality. Let p, p', and p'' be the total, sol, and gel equilibrium fractional conversions, respectively, and S the sol fraction. Under the assumptions of equireactivity and of no intramolecular reaction between A-groups in the sol, we have, by means of polymer statistics [3, 4, 7],

$$S = (1 - p + S \frac{1 - p'}{1 - p} p)^a,$$
(5)

$$S(1-p') = (1-p)(1-p+S\frac{1-p'}{1-p}p)^{a-1},$$
(6)

and

$$S\frac{1-p'}{1-p} = S^{(a-1)/a}.$$
(7)

Now let us express p, p', and p'' in terms of the sol fraction S. Substituting Eq. (7) into Eq. (6) gives

$$p = \frac{1 - S^{1/a}}{1 - S^{(a-1)/a}}$$
(8)

By combining Eqs. (8) and (7), we have

$$p' = \frac{S^{(a-2)/a} - S^{(a-1)/a}}{1 - S^{(a-1)/a}}.$$
(9)

From the relation

$$1 - p = S(1 - p') + (1 - S)(1 - p'')$$

together with Eqs. (8) and (9), we obtain

$$p'' = \frac{(1 - S^{1/a})(1 + S^{(a-1)/a})}{1 - S}.$$
 (10)

The expressions of p, p', and p'' indicate that the three kinds of equilibrium fractional conversions are connected by the sol fraction S, which is an observable quantity.

When S = 1, the expressions of p, p', and p'' become indeterminate, i.e., 0/0, and then, application of the L'Hospital's rule leads us directly to the results

$$p_c = \frac{1}{a-1}$$
, $p_c' = \frac{1}{a-1}$, and $p_c'' = \frac{2}{a}$, (11)

where p_c , p_c' , and p_c'' are the gel points with respect to the total, sol, and gel equilibrium fractional conversions, respectively.

It is obvious that with any one of the equilibrium fractional conversions p, p', and p'', the discussion of curing theory will be straightforward. But, in order to make the scaling study of this paper easier, we shall choose the total equilibrium fractional conversion p to proceed.

For a random *a*-functional crosslinking system, the Flory-Stockmayer distribution $[1, 2] p_n$ takes the form

$$P_n = C_n p^{n-1} (1-p)^{an-2n+2}, \tag{12}$$

with

$$C_n = \frac{a(an-n)!}{n!(an-2n+2)!},$$
(13)

where P_n is the equilibrium number fraction distribution of *n*-mer.

It is known that the first moment M_1 can be evaluated [3] by means of P_n in Eq. (12) as follows:

$$M_1 = \sum_n n P_n = \begin{cases} 1, & \text{for } p \le p_c \\ S, & \text{for } p \ge p_c. \end{cases}$$
(14)

Note that the gel point p_c can be regarded as the threshold of the sol-gel transition and, then, when $p \ge p_c$, the sol fraction S, which is closely related to p as given in Eq. (8), varies from 1 to 0.

Let us deal with the second moment M_2 . Taking p as a variable to differentiate the right- and left-hand sides of Eq. (14) yields

$$M_2 = \frac{1+p}{1-(a-1)p}M_1 + \frac{p(1-p)}{1-(a-1)p}\frac{d}{dp}M_1.$$
 (15)

To obtain the second moment M_2

$$M_2 = \sum_n n^2 P_n = \begin{cases} \frac{F_2(p)}{p_c - p}, & \text{for } p \le p_c \\ \frac{T_2(p)}{p - p_c}, & \text{for } p \ge p_c \end{cases}$$
(16)

where

$$F_2(p) = \frac{1+p}{a-1},$$
(17)

$$T_2(p) = -\frac{S(1+p) + p(1-p) \, dS/dp}{a-1},\tag{18}$$

and

$$\frac{dS}{dp} = -\frac{a(1-S^{(a-1)/a})^2 S^{(a-1)/a}}{(a-1)S^{(a-2)/a} - (a-2)S^{(a-1)/a} - 1},$$
(19)

dS/dp being derived from Eq. (8).

For the kth moment M_k , the analogous differentiation procedure done consecutively from M_2 yields

$$M_{k} = \sum_{n} n^{k} P_{n} = \begin{cases} \frac{F_{k}(p)}{(p_{c} - p)^{2k-3}}, & \text{for } p \leq p_{c} \\ \frac{T_{k}(p)}{(p - p_{c})^{2k-3}}, & \text{for } p \geq p_{c} \end{cases} \qquad \qquad k = 3, 4, \dots, \quad (20)$$

with the recursion formula

$$M_{k} = \frac{1+p}{1-(a-1)p} M_{k-1} + \frac{p(1-p)}{1-(a-1)p} \frac{d}{dp} M_{k-1}, \quad k = 3, 4, \dots$$
(21)

This formula can lead us directly to the recursion formula

$$R_{k}(p) = [(1+p)(p_{c}-p) + (2k-5)p(1-p)] \frac{R_{k-1}(p)}{a-1} + \frac{(p_{c}-p)p(1-p)}{a-1} \frac{d}{dp} R_{k-1}(p), \quad k = 3, 4, \dots,$$
(22)

with

$$R_k(p) = \begin{cases} F_k(p), & \text{for } p \leq p_c \\ T_k(p), & \text{for } p \geq p_c. \end{cases}$$
(23)

Thus, $F_k(p)$ and $T_k(p)$ can be evaluated, respectively, by taking $F_2(p)$ and $T_2(p)$ in Eqs. (17) and (18) as starting points.

It is clear that by making use of Eqs. (9) and (10), the kth moment for

 $p \ge p_c$ as given in Eqs. (16) and (20) can be reformulated in terms of p' or p''. For brevity, we shall not discuss it further.

SCALING STUDY OF THE SOL-GEL TRANSITION

Let us consider the moments near the gel point p_c ($|p - p_c| \le 1$) [8-10]. For $p = p_c$ it is easy to evaluate the quantities dp/dS, $F_2(p)$, and $T_2(p)$ in Eqs. (19), (17), and (18) to give

$$A_{1} = -\left(\frac{dS}{dp}\right)_{p_{c}} = \frac{2a(a-1)}{a-2}$$
(24)

and

$$A_2 = F_2(p_c) = T_2(p_c) = \frac{a}{(a-1)^2}.$$
(25)

Furthermore, when $p = p_c$, the recursion formula in Eq. (22) turns into the form

$$A_{k} = \frac{(2k-5)(a-2)}{(a-1)^{3}} A_{k-1}, \quad k = 3, 4, \dots,$$
(26)

with

$$A_k = F_k(p_c) = T_k(p_c)$$

to give

$$A_{k} = \frac{(2k-5)!!a(a-2)^{k-2}}{(a-1)^{3k-4}}, \quad k = 3, 4, \dots,$$
(27)

where we have made use of A_2 as the starting point for the recursion.

Consequently, when $|p - p_c| \ll 1$, the sol fraction S in Eq. (5) takes the form, by use of A_1 in Eq. (24),

$$S = 1 - A_1(p - p_c), \quad \text{for } p \ge p_c.$$
 (28)

It is known that the relation

$$S + G = 1 \tag{29}$$

between the sol fraction S and the gel fraction G holds true. Thus we have, from Eq. (28),

$$G = A_1(p - p_c), \quad \text{for } p \ge p_c. \tag{30}$$

From Eqs. (16) and (20) we immediately obtain the kth moment M_k for $k \ge 2$ by means of A_k in Eqs. (25) and (27):

$$M_{k} = \int_{0}^{\infty} n^{k} \widetilde{P}_{n} dn = \frac{A_{k}}{|p - p_{c}|^{2k - 3}}, \quad k = 2, 3, \dots,$$
(31)

for $|p - p_c| \ll 1$. Note that \tilde{P}_n acts as the asymptopic form of the Flory-Stockmayer distribution near the gel point.

Now let us deal with the asymptopic form of the Flory-Stockmayer distribution. From Eq. (31) we introduce

$$X_{k} = \frac{\int_{0}^{\infty} n^{k} \widetilde{P}_{n} dn}{\int_{0}^{\infty} n^{k+1} \widetilde{P}_{n} dn} = \frac{A_{k}}{A_{k+1}} |p - p_{c}|^{2}, \quad k = 2, 3, \dots,$$
(32)

to recast the kth moment as well as the (k + 1)th one into the forms

$$\int_{0}^{\infty} n^{k} \widetilde{P}_{n} dn = \frac{(A_{k})^{k-1/2}}{(A_{k+1})^{k-3/2}} X_{k}^{3/2-k}$$
(33)

and

$$\int_{0}^{\infty} n^{k+1} \widetilde{P}_n \, dn = \frac{(A_k)^{k-1/2}}{(A_{k+1})^{k-3/2}} \, X_k^{1/2-k} \,. \tag{34}$$

Differentiating both sides of Eq. (33) with respect to X_k and then taking into consideration Eq. (34) yields

$$\int_{0}^{\infty} n^{k} \left[\frac{d\widetilde{P}_{n}}{dX_{k}} + \left(k - \frac{3}{2} \right) n\widetilde{P}_{n} \right] dn = 0, \quad k = 2, 3, \dots,$$
(35)

to give

$$\frac{d\tilde{P}_n}{dX_k} + \left(k - \frac{3}{2}\right)n\tilde{P}_n = 0.$$
(36)

It is easy to solve this equation to obtain

$$\widetilde{P}_n = C(n,k) \exp\left[-\left(k - \frac{3}{2}\right)nX_k\right], \quad k = 2, 3, \dots$$
(37)

Hence the integration constant C(n,k) can be determined by Eq. (33) such that

$$\int_{0}^{\infty} Y^{k} C(YX_{k}^{-1}, k) \exp\left[-\left(k - \frac{3}{2}\right)Y\right] dY = \frac{(A_{k})^{k-1/2}}{(A_{k+1})^{k-3/2}} X_{k}^{5/2}.$$
 (38)

Note that we have made use of the substitution

$$nX_k = Y. \tag{39}$$

As a direct result, a partial differential equation can be deduced from Eq. (38):

$$\frac{\partial C(YX_k^{-1},k)}{\partial X_k} = \frac{5}{2} \frac{C(YX_k^{-1},k)}{X_k},$$
(40)

with the solution

$$C(YX_k^{-1},k) = g(Y,k)X_k^{5/2}.$$
(41)

This form can be rewritten, by means of the substitution given in Eq. (39), in the form

$$C(n,k) = g(nX_k,k)X_k^{5/2}$$
(42)

As *n* and X_k in $g(nX_k,k)$ take the form of nX_k , and C(n,k) is independent of X_k , $g(nX_k,k)$ has to take the form

$$g(nX_k,k) = B_k(nX_k)^{-5/2}$$
(43)

to give

$$C(n,k) = B_k n^{-5/2}.$$
 (44)

The constant B_k can be determined by using Eq. (38), and then we have, with the aid of the expressions for A_k in Eqs. (25) and (27),

$$B = B_k = a \left[\frac{1}{2\pi (a-1)(a-2)} \right]^{1/2},$$
(45)

where B means that the constant B_k is independent of k. Thus, the asymptopic form of the Flory-Stockmayer distribution in Eq. (37) can be written explicitly as

$$\widetilde{P}_n = Bn^{-5/2} \exp\left[-\left(k - \frac{3}{2}\right)nX_k\right], \quad k = 2, 3, \dots,$$
(46)

where we have not made use of Stirling's approximation to obtain the exponent 5/2 [8, 10].

Let us further introduce a generalized typical size $n_{\xi}(k)$, which is a generalization of the typical size with k = 2 [10], as

$$n_{\xi}(k) = X_k^{-1} = \frac{(2k-3)(a-2)}{(a-1)^3} |p-p_c|^{-1/\sigma}, \quad k = 2, 3, \dots,$$
(47)

with

$$\sigma = 1/2 \tag{48}$$

to reformulate \widetilde{P}_n in the form

$$\widetilde{P}_n = B n^{-\tau} \exp\left[-\left(k - \frac{3}{2}\right) \frac{n}{n_{\xi}(k)}\right], \quad k = 2, 3, \dots,$$
(49)

with

$$\tau = 5/2. \tag{50}$$

Since \tilde{P}_n is characterized by the generalized typical size $n_{\xi}(k)$, we can take \tilde{P}_n with a definite k' to evaluate the kth moment M_k with a definite k such that

$$M_{k} = \int_{0}^{\infty} Bn^{k-\tau} \exp\left[-\left(k' - \frac{3}{2}\right)\frac{n}{n_{\xi}(k')}\right] dn$$
$$= B\lambda^{-(k-3/2)} \int_{0}^{\infty} t^{(k-3/2)-1} e^{-t} dt$$
$$= B\lambda^{-(k-3/2)} \Gamma\left(k - \frac{3}{2}\right),$$
(51)

with

$$\lambda = \left(k' - \frac{3}{2}\right) \frac{1}{n_{\xi}(k')}$$

where $\Gamma\left(k-\frac{3}{2}\right)$ is the conventional Gamma function. For $k \ge 2$, we have, from Eq. (51),

$$M_{k} = \int_{0}^{\infty} Bn^{k-\tau} \exp\left[-\left(k' - \frac{3}{2}\right) \frac{n}{n_{\xi}(k')}\right] dn$$

= $A_{k} |p - p_{c}|^{-\gamma k}, \quad k, k' = 2, 3, ...,$ (52)

with

$$\gamma_k = 2k - 3. \tag{53}$$

Though the left-hand side of Eq. (52) involves k and k', the right-hand side, which is in accordance with the right-hand side of Eq. (31), is independent of k'.

When k = 1, we have, from Eq. (51),

$$M_1 = B\lambda^{1/2} \int_0^\infty t^{-3/2} e^{-t} dt$$
$$= B\lambda^{1/2} \Gamma\left(-\frac{1}{2}\right)$$

CURING THEORY AND SCALING STUDY

$$= a \left[\frac{\lambda}{2(a-1)(a-2)} \right]^{1/2} \frac{\Gamma(-1/2)}{\Gamma(1/2)} \,. \tag{54}$$

Note that the integrand $t^{-3/2} e^{-t}$ is divergent at t = 0. In order to overcome this difficulty, we extend the expression of M_k given in Eq. (51) to the complex form

$$M(Z) = B\lambda^{-Z} \int_0^\infty t^{Z-1} e^{-t} dt$$

= $B\lambda^{-Z} \Gamma(Z),$ (55)

where Z is a complex parameter and the gamma function $\Gamma(Z)$ satisfies

$$\Gamma(1-Z) = -Z\Gamma(-Z). \tag{56}$$

Consequently, we have

$$M_k = M(ReZ) \tag{57}$$

and

$$\Gamma(1 - ReZ) = -ReZ\Gamma(-ReZ), \tag{58}$$

with

$$ReZ=k-\frac{3}{2}.$$

For k = 2 and ReZ = 1/2, Eqs. (57) and (58) become

$$M_{2} = B\lambda^{-1/2} \int_{0}^{\infty} t^{-1/2} e^{-t} dt$$
$$= a \left[\frac{1}{2(a-1)(a-2)\lambda} \right]^{1/2}$$
(59)

and

$$\frac{\Gamma(1/2)}{\Gamma(-1/2)} = -\frac{1}{2},$$
(60)

respectively. The relation in Eq. (60) is not useful for evaluating the second moment M_2 in Eq. (59), but it is useful for treating the divergent behavior of the first moment M_1 in Eq. (54). When Eq. (60) is substituted in Eq. (54) and the divergent behavior of M_1 is removed, we obtain

$$B\lambda^{1/2} \int_0^\infty t^{-3/2} e^{-t} dt = \frac{1}{2} A_1 (p - p_c), \quad \text{for } p \ge p_c, \tag{61}$$

where we have made use of $|p - p_c| = \pm (p - p_c)$ and then chosen the one with the negative sign.

Comparing Eq. (61) with Eq. (30), we obtain

$$G = 2 \int_0^\infty B n^{1-\tau} \exp\left[-\left(k' - \frac{3}{2}\right) \frac{n}{n_{\xi}(k')}\right] dn$$
$$= A_1 (p - p_c)^{\beta}, \quad \text{for } p \ge p_c, \tag{62}$$

with

$$\beta = 1. \tag{63}$$

Alternatively, we can further approach the sol fraction S with the expression given in Eq. (49).

Since the distribution \tilde{P}_n given in Eq. (49) has been obtained only by use of Eq. (31) without involving the expression for the sol fraction S in Eq. (28), it is reasonable to introduce a constant D of the form

$$D = \frac{2}{A_1(p - p_c)} - 2 \tag{64}$$

to give, from Eq. (61),

$$S = D \int_{0}^{\infty} n \widetilde{P}_{n} dn$$

= $DB \lambda^{1/2} \int_{0}^{\infty} t^{-3/2} e^{-t} dt$
= $1 - A_{1}(p - p_{c})$, for $p \ge p_{c}$ (65)

and

$$G = 2 \int_{0}^{\infty} n \tilde{P}_{n} \, dn = A_{1}(p - p_{c}). \tag{66}$$

This expression is in accordance with that given in Eq. (52).

THE SCALING LAW

We present a brief discussion of the generalized scaling law.

By introducing the generalized typical size $n_{\xi}(k)$ into the right-hand sides of Eqs. (52) and (62), we have

$$\int_{0}^{\infty} Bn^{k-\tau} \exp\left[-\left(k'-\frac{3}{2}\right)\frac{n}{n_{\xi}(k')}\right] dn = A_{k}\left(\frac{A_{k}}{A_{k+1}}\right)^{\sigma\gamma k} n_{\xi}(k)^{\sigma\gamma k},$$

$$k = 2, 3, \dots, \qquad (67)$$

and

$$\int_{0}^{\infty} Bn^{1-\tau} \exp\left[-\left(k'-\frac{3}{2}\right)\frac{n}{n_{\xi}(k')}\right] dn = \frac{A_{1}}{2} \left(\frac{A_{k+1}}{A_{k}}\right)^{\alpha\beta} n_{\xi}(k)^{-\alpha\beta},$$

for $p \ge p_{c}.$ (68)

Application of the scaling transformation T,

$$Tn_{\xi} = Ln_{\xi}$$
 (*L* being a positive real number), (69)

$$Tn = Ln, (70)$$

to Eqs. (67) and (68) gives immediately

$$\tau - 2 = \sigma\beta \tag{71}$$

$$k+1-\tau=\sigma\gamma_k, \quad k=2,3,\ldots.$$
⁽⁷²⁾

These relations, arising in essence from the generalized typical size, are the generalization of the scaling law which is associated with the typical size characterized by k = 2 [9, 10].

REFERENCES

- [1] P. J. Flory, J. Am. Chem. Soc., 63, 3083, 3091, 3096 (1941).
- [2] W. H. Stockmayer, J. Chem. Phys., 11, 45 (1943).
- [3] A.-C. Tang and Y.-S. Kiang, Sci. Sin., 12, 977 (1963).
- [4] A.-C. Tang, The Statistical Theory of Polymeric Reactions, Science Press, Beijing, China, 1981 (in Chinese).
- [5] G. R. Dobson and M. Gordon, J. Chem. Phys., 43, 705 (1965).
- [6] M. Gordon and G. Scantlebury, J. Chem. Soc., p. 1 (1967).
- [7] D. R. Miller and C. W. Macosko, *Macromolecules*, 9, 206 (1976).
- [8] C. Peniche-Covas et al., "Gels, Gelling Processes," Faraday Discuss., 57, 165 (1974).
- [9] P. G. de Gennes, Scaling Concept in Polymer Physics, Cornell University Press, London, 1979.
- [10] D. Staufer, A. Coniglio, and M. Adam, Adv. Polym. Sci., 44, 103 (1982).

Received March 20, 1987 Revision received June 5, 1987